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Paper / Subject Code: 97083 / ECONOMICS: INDUSTRIAL AND LABOUR ECONOMICS

2% Hours Total Marks : 80
Please check whether you have got the right question paper
N.B. 1)  All questions are compulsory.

2)  All questions carry equal marks.

Q.1. Answer any two of the following : 20
(a) Explain the nature and scope of Industrial Economics.

(b) Give the Problems of Private Sector in the Ind1an Economy

(¢) Discuss the different types af feature:a o?’ Co operatxve ector. » ;

Q2.  Answer any two of the following : e A T T ey g 20
(a) Discuss the factors determmmg of Inﬁ ustrial Locatlon il '
(b)  Explain the Weber’s theory of Industrial Location.

()  What are the Various causes of regional imbalance?

Q.3. Answer any two of the following ; . 20
(a) Explain the factors affecting on Industrial Productivity.
(b) ~ Give the causes and effects of industrial sickness.

(¢) Explainthe conc(ept» and impact of Rationalisation.

Q4. 3 ¥ twou 'r“hé foﬂowmg g 5 20
@) : "‘Explam New Industnal Polwy of 1991,

(b). | Explam the. role of MNC s8.in developing countries.

f (c) ‘Discuss the Issues of Industrtal Prohferatxon and Environment
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